Total Pages--8 C/19/BA/Part-3/ECOG/4

2019

Part-III
ECONOMICS
(Generalj
PAPER—IV
Full Marks : 45
Time : 2 Hours

The figures in the right-hand margin indicate full marks.

Candidates are required to give their answers in their

own words as far as practicable.

Nustrate the questions wherever necessaryy.

Group—A

1. Answer any five guestions : ' 5x2
(a) What do you mean by rural development ?
(b) What is rural industrialization ?

(c) What is MGNREGA ?

{Turm Quver)



S

(@) What is NABARD ?
(e) What is sample survey ?
(i What is standard deviation ?

(g) If the average salary of male employees in a firm is
Rs. 520 and average salary of female employee in the
same firm is Rs. 420, find the mean salary of all the

employees of the same firm ? The firm has 80 male

employees and 20 female employees.

{(h) How would you differentiate between primary and

secondary data ?

Group—B

Answer any three qguestions. Ax5

2. Discuss the features of rural economy of India.

3. How can the development in rural infrastructure promote

rural development ? Discuss briefly.

4. Write a note on co-operative farming.
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5.

Expenditure incurred by a family on different items in the
month of December, 2019 is given below :

ltem Amount (in Rs.}
Food & Beverages 2500
Clothing 1100
Education 1300
Medicine 600
Transport & Comrmunication 800
Others _ 700

Represent the above table with the help of a pie chart.
| .

Find the arithmetic mean of the marks from the following
table :

|
Marks 0-20 20-40 40-60 60-80 80-100
No. of 18 20 30 19 13
students

Discuss briefly about the steps for the preparation of a
research project.

' Group—C

Answer any fwo questions, 2x10

What is disguised unemployment ? What is decentralized

planning ? Briefly evaluate the Panchayati Raj System of
India. | 24246
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9. Dliscuss the role of agriculture in the rural development.

Liscuss the importance of rural credit for rural

development. B8

10. What are the different measures of central tendency ? In
the foliowing table distribution of marks of an examination
is given

Marks 35 40 45 50 55 60 65 70

No. of students 10 13 20 25 28 20 18 14

Find standard deviation of marks. . 3+7

11. Write some important properties of arithmetic mean. The
marks obtained by 10 students in Economics and

Statistics are given below :
Reoll No. 1 2 3 4 5 6 7 8 9 10

Marks in 75 30 60 80 53 35 15 40 38 48

Economics

Marks in 85 45 54 91 58 63 35 43 45 44

Statistics

Find the correlation co-efficient between the two subjects.
3+7
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